w1 HmeEAX

[1] a®+2ab+b’=(a+b)?>, a’-2ab+b*=(a-b)’
[2] &> — b’ =(a+b)(a-b)

8] (x+a)(x+b)=x*+(a+b)x+ab

2 R#HFE

(1) x*+6x+9 (2) 4x*-12xy+9y?
(3) 4x*-9y? (4 x*+3x-18
(6) x*-x+20 6 2x*-2x-4

(1D (x+3)2 @ (2x-3y)? 3) (2x+3y)(2x-3y) @ (x+6)(x-3)
(3) (x+4)(x=5) (6 2(x+1)(x-2)
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w1 HmeEAX

[1] a®+3a’h+3ab”* +b° =(a+b)’, a’-3a’h+3ab’-b’=(a-b)’

[2] &®+b’=(a+b)(a’-ab+b*), a’-b’=(a-b)(a’+ab+b?)

2 REFHED

(1 (x+3)° @ (x-2)°
(3) (2a+3b)° (@) (x+2)(x*-2x+4)
(5) (x=3)(x*+3x+9) (6) (3a+2b)(9a*—6ab+4b?)

1) xZ+9x2+27x+27 (2 x*-6x2+12x-8 (3) 8a®+36a’b+54ab? +27b°
4) x*+8 () x*-27 () 27a®+8b°
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w1 e

acx’ + (ad +bc)x+bd = (ax+b)(cx +d)
a b ——> ‘bc
C >< d —> cd
ac bd bc + ad
( X* %% ) ( EHH ) ( XOf%E )

2 RAEABQ (=¥ =A%)

(1) 2x*+11x+5 (2) 6x* —x-12
(3) 2x? -13x-17 (4) 3x*-10x-8
(5) 3x* +7xy +2y? (6) 12x* - 7xy —12y?

(1) (2x+1)(x+5) @ (2x=3)(3x+4) (3) (2x+1)(x=7) (@ (3x+2)(x~-4)
(5) (3x+Y)(x+2y) (6 (4x+3y)(3x~—4y)
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